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Question Number : 1 Question Id : 87827045526 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Atwo or three dimensional object that represents an idea, concept, or abstraction is known as ?

1. Trademark
2. 3 D design
3. Symbol

4 |deogram

Options :

878270178941. 1
878270178942. 2
878270178943. 3

878270178944. 4

Question Number : 1 Question Id : 87827045526 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U & U1 -3 9% 9 fdaR, @R a1 il &1 WiaHiid 3l 5, & ©9 4 I ot 82

Options :

878270178941. 1
878270178942. 2
878270178943. 3

878270178944. 4

Question Number : 2 Question Id : 87827045527 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct designer who designed the logo of 'FTI' (Film and Television Institute of India)

1.M.C. Patel

2. 5M.Sah

3. Sudardarshan Dheer
4 RK Joshi

Options :

878270178945. 1
878270178946. 2
878270178947. 3

878270178948. 4

Question Number : 2 Question Id : 87827045527 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

el fugR g forgd U, &1, 3. (YR e 3R Ceiifaed YRIH) &1 dlfl &4 8|

1. 5 4l gdd
2. T4 UH Hlg
3. Y= 4R

4 AR & ofEh

Options :

878270178945. 1
878270178946. 2
878270178947.3

878270178948. 4

Question Number : 3 Question Id : 87827045528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If a point could move and leave a mark in moving it is callled ———

1. Logo
2. Tone
3. Line
4 Texture

Options :

878270178949. 1
878270178950. 2
878270178951. 3

878270178952. 4



Question Number : 3 Question Id : 87827045528 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g DI f6g 90 Yol & AR 0 H o 214 Bisdl § df IY———— gl 9l g

1. AT
3. 3@l
4. T

Options:

878270178949. 1
878270178950. 2
878270178951. 3

878270178952. 4

Question Number : 4 Question Id : 87827045529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Zig - Zaqg line represents which of the following :

- Misbehavior
. Happiness

- Relax

. Silence

A

Options :

878270178953. 1
878270178954. 2
878270178955. 3

878270178956. 4



Question Number : 4 Question Id : 87827045529 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e v FafafEa & © feger ufafafia ol &

2. el
3. RE
4. T

Options:

878270178953. 1
878270178954. 2
878270178955. 3

878270178956. 4

Question Number : 5 Question Id : 87827045530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Afrequent placement of one or more elements in requlated and structured manner or using the same form again and again
is called ————

1. Variety

2. Unity

3. Repetition
4. Proportion

Options :
878270178957. 1
878270178958. 2

878270178959. 3



878270178960. 4

Question Number : 5 Question Id : 87827045530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 7 i Tl ! e iR T e § SRR W6 11 U6 & &0 3 gR-IR J9 G Pl SHEGIE

1. fafaea
2. ol
3. RN

4. sr{id

Options :

878270178957. 1
878270178958. 2
878270178959. 3
878270178960. 4

Question Number : 6 Question Id : 87827045531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When motive or elements are repeated, alternated, or otherwise arranged in he intervals between them or how they
overlap creates which of the following

1. Contrast
2. Rhythm
3. Subordination
4 Balance

Options :
878270178961. 1

878270178962. 2



878270178963. 3

878270178964. 4

Question Number : 6 Question Id : 87827045531 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 YR 1 Tl I IR o1l &, SRI-aR 4 T 30 e fohd T § 97 a1 & eIl 419 Y ey i
g oAy an w8

1. faymrg
) T
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4 ¥

Options:

878270178961. 1
878270178962. 2
878270178963. 3

878270178964. 4

Question Number : 7 Question Id : 87827045532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The arrangement of elements of design in relation to the space in accordance with an overall aesthetic scheme is called -—

1. Balance
2. Contrast
3. Layout

4 Rhythm

Options :

878270178965. 1



878270178966. 2
878270178967. 3

878270178968. 4

Question Number : 7 Question Id : 87827045532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG G Ficd IS & SRR Gl ®IF & §efY # ST & e &1 a1 B H81 I g

(GG

2 faRimurg
3. T
4T

Options:

878270178965. 1
878270178966. 2
878270178967. 3
878270178968. 4

Question Number : 8 Question Id : 87827045533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The arrangement of page In the sequence and position in which they will appear when printed, before being cut is known as

1. Rhythm
2. Imposition
3. Sequence
4 Grid

Options :



8782701789609. 1
878270178970. 2
878270178971. 3

878270178972. 4

Question Number : 8 Question Id : 87827045533 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Y B! 38 P 3R Ry # oy fored 3 gfcd 59 W e &1, $1ed € g & ®U H 1 91 ¢

1.7

2. 8 forg
3. SffpH
475

Options :

8782701789609. 1
878270178970. 2
878270178971. 3
878270178972. 4

Question Number : 9 Question Id : 87827045534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the most popular print media available to the advertiser?

1. Packaging
2. Sticker
3. E-mail
4 Newspaper

Options :



878270178973. 1
878270178974. 2
878270178975. 3

878270178976. 4

Question Number : 9 Question Id : 87827045534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fofafad o U oF w1 faqu-erdar & fau 3uds ged disiiy file difsar g2

1. TdafoiT
2 Rear

3. 3-Hd

4 GHFER U

Options :

878270178973. 1
878270178974. 2
878270178975. 3

878270178976. 4

Question Number : 10 Question Id : 87827045535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Print media advertising is generally criticized because of the which of the following reasons ?

1. High cost

2 Very less cost
3 Language

4 Circulation

Options :



878270178977. 1
878270178978. 2
878270178979. 3

878270178980. 4

Question Number : 10 Question Id : 87827045535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fife Hifsar fasu= ®1 o dR R FeftiEd 5 9 59 SR Y =1 31 Sl 872

2. T 9gd &H
3. YT
4. GO

Options :

878270178977. 1
878270178978. 2
878270178979. 3

878270178980. 4

Question Number : 11 Question Id : 87827045536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following category of newspaper advertising has closure customer relationship to likes and dislikes?

1. Retail advertising
2. Trade adverfising
J. Corporate advertising
4 Institutional advertising

Options :



878270178981. 1
878270178982. 2
878270178983. 3

878270178984. 4

Question Number : 11 Question Id : 87827045536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qaER W fage ot Fafafea & © fg 4oft 7 ude 1y & 91y U5 & 4ad 52

1. g1 faqmo

2. SR fawma=
3. PIURE fagmd
4 TRIATT faqoH

Options :

878270178981. 1
878270178982. 2
878270178983. 3

878270178984. 4

Question Number : 12 Question Id : 87827045537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Advertising to promote the service rendered by the manufacturer is called which of the following ?

1. Pioneering advertising
2. Political Advertising
3. Product advertising
4 Service advertising

Options :



878270178985. 1
878270178986. 2
878270178987. 3

878270178988. 4

Question Number : 12 Question Id : 87827045537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fmfar grR1 UeH @t oI el Ba1 ol agal o & o ey &t FefefEa g Y e W s oM 82

1. 3T fagoA
3. 3G P faqne
4. 41 3910

Options :

878270178985. 1
878270178986. 2
878270178987. 3

878270178988. 4

Question Number : 13 Question Id : 87827045538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Printing became mechanized after the invention of the movable of type system in 15th century by :

1. Samuel Fawcett

2. Karl Klic

3. Elizebeth Adler

4 Johann Guttenberg

Options :



878270178989. 1
878270178990. 2
878270178991. 3

878270178992. 4

Question Number : 13 Question Id : 87827045538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1501 Trdleal  IAIHMA T YUTTe! & HfAHR & &g g0l $I HLHIH0 8l 74T

1. T3 Bide
2 FIC FP
3. Uiy TSR

Options :

878270178989. 1
878270178990. 2
878270178991. 3

878270178992. 4

Question Number : 14 Question Id : 87827045539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The "Bengal Gazette" in 1780 was published by :

1. David Bann

2. Richard Schlemmer

3. James Augustus Hickey
4 Victor Strans

Options :



878270178993. 1
878270178994. 2
878270178995. 3

878270178996. 4

Question Number : 14 Question Id : 87827045539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1780 T "€91Td TTeie” UahTiRId fodT 14T UT:

2. e wm
3. O e g B@)
4 fogeT &9

Options :

878270178993. 1
878270178994. 2
878270178995. 3

878270178996. 4

Question Number : 15 Question Id : 87827045540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The word "Paper” is derived from the word

Papyus
Pulp
Wood
Hemp

R I

Options :



878270178997. 1
878270178998. 2
878270178999. 3

878270179000. 4

Question Number : 15 Question Id : 87827045540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"I Wet, 39 Vst Y 01 71 &:

1. ufuag
2.0
3. ddal
4. HIT

Options :

878270178997. 1
878270178998. 2
878270178999. 3

878270179000. 4

Question Number : 16 Question Id : 87827045541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The size of the paper is officially standardized by which of the following organization:

1. Bureau of Indian Standards

2. International Standards Organization
3. Quality Control of India

4 Central Bureau of Investigation

Options :



878270179001. 1
878270179002. 2
878270179003. 3

878270179004. 4

Question Number : 16 Question Id : 87827045541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BT BT HBR MUSND dR R Fafied & T g 96+ gRI IF@ 19 1601 711 &:

1. YR IHS o
3. YR @I T[oa] fg=m

Options :

878270179001. 1
878270179002. 2
878270179003. 3

878270179004. 4

Question Number : 17 Question Id : 87827045542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term offset refers to

1. Transfer of image from the plate to a rubber cyclinder which offsets it onto the paper

2. Laser light passes through a finely tuned optical system and lands on a light sensitive negatively charged rotating drum
3. Directs the outputing device to force or spray tiny individual drops of charge liquid ink

4 Images of raised letters pressing against a surface

Options :



878270179005. 1
878270179006. 2
878270179007. 3

878270179008. 4

Question Number : 17 Question Id : 87827045542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tg T, 50 Uefild a6
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Options :

878270179005. 1
878270179006. 2
878270179007. 3

878270179008. 4

Question Number : 18 Question Id : 87827045543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The planographic process i1s based on the principle that:

1. Fast drying ink

2. Assembly of film and plate making
3. Film outputting of formatted text
4 \Water does not mix with oil



Options :

878270179009. 1
878270179010. 2
878270179011. 3
878270179012. 4

Question Number : 18 Question Id : 87827045543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G Uil 59 fisid W snuia & fa

1. Slea] Qg drcll Srel

2 Thed 3R e 991 & =H
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Options :

878270179009. 1
878270179010. 2
878270179011. 3

878270179012. 4

Question Number : 19 Question Id : 87827045544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The process in which a thin layer of foil is applied on a particular design then applied on a substrate:

1. Die stamping

2. Hologram printing
3. Hot foil stamping
4. Thermography

Options :

878270179013. 1
878270179014. 2
878270179015. 3

878270179016. 4

Question Number : 19 Question Id : 87827045544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g iepdl Fores Tl 1 0 el Rl 1 0o oy Fol e R oI el & R s T g TR il il &

3. T Ol i
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Options:

878270179013. 1
878270179014. 2
878270179015. 3

878270179016. 4

Question Number : 20 Question Id : 87827045545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

In modern printing, (CtP) technology is a new addition. The full form of CtP Is:

1. Computer-to-paper

2. Computer-to-newsprint
3. Computer-to-art paper
4 Computer-to-plate

Options :

878270179017. 1
878270179018. 2
878270179019. 3

878270179020. 4

Question Number : 20 Question Id : 87827045545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yo geur H, (@ & 0 do-ie te mrEs gl 9. & il sr g wu g

1. PR UWR
2 HHR-Z-Hlle
4 DR T-Te

Options :

878270179017.1
878270179018. 2
878270179019. 3

878270179020. 4

Question Number : 21 Question Id : 87827045546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A shelf life of newspaper is:

Just few hours
2. Two days
3. Three days
4 One year

Options :

878270179021. 1
878270179022. 2
878270179023. 3

878270179024. 4

Question Number : 21 Question Id : 87827045546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR UF &1 Ud Uch olldd o

1. 99 pS ol °e
2.l feq
3 dH e

4 Udh gicd

Options :

878270179021. 1
878270179022. 2
878270179023. 3
878270179024. 4

Question Number : 22 Question Id : 87827045547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The Bengal Gazette the Indian newspaper was started in which year.

1.1770
2.1780
3. 1951
41947

Options :

878270179025. 1
878270179026. 2
878270179027. 3

878270179028. 4

Question Number : 22 Question Id : 87827045547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRG GHER U3 "§77d e g au = febar 747 o |

117709
2 1780 §
31951
4194749

Options :

878270179025. 1
878270179026. 2
878270179027.3

878270179028. 4

Question Number : 23 Question Id : 87827045548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Aterm derived from the Arabic word 'mahazin’ or the French word 'magasin’, both meaning ‘warehouse' or 'store

1. Mahendra
2 Magazine
3. Max

4 Master

Options :

878270179029. 1
878270179030. 2
878270179031. 3

878270179032. 4

Question Number : 23 Question Id : 87827045548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179029. 1
878270179030. 2
878270179031. 3
878270179032. 4

Question Number : 24 Question Id : 87827045549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Two facing pages in the middle of a publication that are center stitched is known as:

1. Layout

2. Grid

3. Graph

4 Centrespread

Options :

878270179033. 1
878270179034. 2
878270179035. 3

878270179036. 4

Question Number : 24 Question Id : 87827045549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS TP & &9 § &1 9 a1d U {572 ot & fcrar o 8, 5% 39 0 § ST ol 8
1. f’mlﬂ e
2. I8
3. 7%
4 Ggodmt
Options :
878270179033. 1
878270179034 2
878270179035. 3

878270179036. 4

Question Number : 25 Question Id : 87827045550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Information booth for dispensing free information which is normally displayed at street corners or other strategic points is
know as

1. Tabletop

2 Kiosk

3. Book cover
4 Cover page

Options :

878270179037. 1
878270179038. 2
878270179039. 3

878270179040. 4

Question Number : 25 Question Id : 87827045550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

0 PR & 3 070 Qe 94 T 31 AR R 960 & O 41 30 XU faiga IR G (] oIl , & 0 H o

1, TGN

. four

3. 50 & S0

4 S0 TF

Options:

878270179037. 1
878270179038. 2
878270179039. 3

878270179040. 4

Question Number : 26 Question Id : 87827045551 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Display materials such as danglers, show cards, posters used by advertisers at the point sale of their goods is known as;

1. Point of purchase
2. Saleman

3. Offer

4 Free demo

Options :

878270179041. 1
878270179042. 2
878270179043. 3

878270179044. 4

Question Number : 26 Question Id : 87827045551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oo T 30 W Bt fog! & GHY SUGIT 1 oW arelt Tegid el ol STeR. Tare, e & &0 A 9H i &

1. Gl 3 R

3T

4. 01 T 00 g
Options :

878270179041. 1
878270179042. 2
878270179043. 3

878270179044. 4



Question Number : 27 Question Id : 87827045552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A short strip or sequence of drawings that tells a story, usually drawn by a cartoonist or an artist is known as

1. Comic strip
2. Logo

3. Poster

4 Board

Options :

878270179045. 1
878270179046. 2
878270179047. 3

878270179048. 4

Question Number : 27 Question Id : 87827045552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T B 01 1 o e O g T 2, PR R U e 1 U R % 9 o 2, 5 0 3

2 @
3 TR

Options :

878270179045. 1
878270179046. 2
878270179047. 3

878270179048. 4



Question Number : 28 Question Id : 87827045553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Packaging is divided into two broad categories: shiping packaging and the other is?

1. International

2. Retail packaging
3. Shopping mall
4. Paper bag

Options:

878270179049. 1
878270179050. 2
878270179051. 3
878270179052. 4

Question Number : 28 Question Id : 87827045553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UohfoiT ®i &l AU Il | fayiford faan a1 8: R JafeiT 3R garr?

2. el Yo
3. QT 9id

Options :

878270179049. 1
878270179050. 2
878270179051. 3

878270179052. 4



Question Number : 29 Question Id : 87827045554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is consider as central idea of the advertisement?

1. Layout

2. Logo

3. Appeal

4 Symbol
Options:
878270179053. 1
878270179054. 2
878270179055. 3

878270179056. 4

Question Number : 29 Question Id : 87827045554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

AT &1 heid faaR g a1 =i 82

1. dge
2 |
3. e
4 Tdid

Options :

878270179053. 1
878270179054. 2
878270179055. 3

878270179056. 4



Question Number : 30 Question Id : 87827045555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word "advertising” is derived from the which Latin word?

1. ABC

2. Apple
3 Alaska
4 Adverto

Options:

878270179057. 1
878270179058. 2
878270179059. 3

878270179060. 4

Question Number : 30 Question Id : 87827045555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

[3RIT0H WG foh g Qife Xsg I R a1 82

2. U0

3. SfTIRDI

Options :

878270179057. 1
878270179058. 2
878270179059. 3

878270179060. 4



Question Number : 31 Question Id : 87827045556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Visual presentations in the form of layout known as

=3

. Pressure plate
. Story board

. Panning

. Photo flood

A

Options:

878270179061. 1
878270179062. 2
878270179063. 3

878270179064. 4

Question Number : 31 Question Id : 87827045556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T33< & ©U H €99 Tdiay

1. UBR @i
3 O
4 Bl IS

Options :

878270179061. 1
878270179062. 2
878270179063. 3

878270179064. 4



Question Number : 32 Question Id : 87827045557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which type of lens bend light inwards?

Options:

878270179065. 1
878270179066. 2
878270179067. 3
878270179068. 4

Question Number : 32 Question Id : 87827045557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g TR & ofd USRI Bl g Bl b H Aisd 82

1 Haadq
2. 3fadd
3. °id
4. gdell

Options :

878270179065. 1
878270179066. 2
878270179067. 3

878270179068. 4



Question Number : 33 Question Id : 87827045558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As focal length increases, field of view -———- ?

1. Increases
2. Overlaps
3. Decreases
4. Nothing

Options:

878270179069. 1
878270179070. 2
878270179071. 3

878270179072. 4

Question Number : 33 Question Id : 87827045558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T [n)
|

SH-oY Bidd dels 9gdl &, 6 @] SF-———?

1. d9¢ 9l &
2 e
3. Uedie
4 DB ol

Options :

878270179069. 1
878270179070. 2
878270179071. 3

878270179072. 4



Question Number : 34 Question Id : 87827045559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What do you mean by "' number?

1. Speed

2. Imulsion layers
3. Action shots

4 Aperture

Options:

878270179073. 1
878270179074. 2
878270179075. 3

878270179076. 4

Question Number : 34 Question Id : 87827045559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U YT U HIGHT ] Haod 22

1. 7T

2 3197 Uxd
3. UM Fie
4. TR

Options :

878270179073. 1
878270179074. 2
878270179075. 3

878270179076. 4



Question Number : 35 Question Id : 87827045560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shutter speed "1/1600" means ?

1. 1600th of a minute
2. 1600th of a second
3. 1600th of a hour
4 1600th of a day

Options:

878270179077. 1
878270179078. 2
878270179079. 3
878270179080. 4

Question Number : 35 Question Id : 87827045560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 7 "1/1600" 1 31 § ?

1. U 3¢ &1 16004T
2 Udh Ydvg Bl 1600d1 YFT
3. U ©¢ BT 160041 fawdn
4. U 4 &1 16004

Options :

878270179077. 1
878270179078. 2
878270179079. 3

878270179080. 4



Question Number : 36 Question Id : 87827045561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The window you look through to frame your shot known as:

1. Vanishing point

2. View finder

3. Rule of third

4. Crossing the frame

Options:

878270179081. 1
878270179082. 2
878270179083. 3

878270179084. 4

Question Number : 36 Question Id : 87827045561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fore Fas®! 9 1Y 30+ i & hH &34 & oY ¢@d &, 39 39 ©U 8 oHI oidl &:

4. TH &I UR &

Options :

878270179081. 1
878270179082. 2
878270179083. 3

878270179084. 4



Question Number : 37 Question Id : 87827045562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many types of shooting priority modes in DSLR camera?

1.4
26
3.8
4.0

Options:

878270179085. 1
878270179086. 2
878270179087. 3
878270179088. 4

Question Number : 37 Question Id : 87827045562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

S1. U8 U, 3R, HHL H fbad UBR & ST WryfHedl 15 82

1.4
2.6
3.8
4.0

Options :

878270179085. 1
878270179086. 2
878270179087. 3

878270179088. 4



Question Number : 38 Question Id : 87827045563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many types of metering system is found on modern cameras?

1.1
22
3.6
4 4

Options:

878270179089. 1
878270179090. 2
878270179091. 3

878270179092. 4

Question Number : 38 Question Id : 87827045563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MYFIF HTRI R s PR $1 HehT Tomeh o1 St 22

1.1
2.2
3.6
4 4

Options :

878270179089. 1
878270179090. 2
878270179091. 3

878270179092. 4



Question Number : 39 Question Id : 87827045564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The imaging sensor "CCD" stands for ?

1. Charge Coupled Device
2. Create Correct Device
3. Colour Correct Device
4 Colour Contrast Device

Options:

878270179093. 1
878270179094. 2
878270179095. 3

878270179096. 4

Question Number : 39 Question Id : 87827045564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ZHSHT T8 "CCD" BT 314 Y,

2. HUC hige (3dsy
3. B Biae f8agy
4 PR hore fSaEg

L' i
1. <6 U [3d139
i

Options :

878270179093. 1
878270179094. 2
878270179095. 3

878270179096. 4



Question Number : 40 Question Id : 87827045565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the full form of 1507

1. Intricate solarization object

2. International standards organization
3. Infinity stop over

4 Inverse scanner out

Options:

878270179097. 1
878270179098. 2
878270179099. 3

878270179100. 4

Question Number : 40 Question Id : 87827045565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SO DT gl Y &1 82

fedie GIeRIgwieH Hleulde
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Options :

878270179097. 1
878270179098. 2
878270179099. 3

878270179100. 4



Question Number : 41 Question Id : 87827045566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is not a lighting system for photography?

. Top lighting

. Back lighting

. Frontal lighting
- Neutral lighting

A

Options:

878270179101. 1
878270179102. 2
878270179103. 3

878270179104. 4

Question Number : 41 Question Id : 87827045566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@I T BICHTD! & T UehT=T oHawl 3

1. 21g aafé
2 d AR
3. Thed argfd
4 e e

2

Ty

Options :

878270179101. 1
878270179102. 2
878270179103. 3

878270179104. 4



Question Number : 42 Question Id : 87827045567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is brolly ?

1. Dark back drop
2. Reflector

3. Masking tool
4. Exposure box

Options:

878270179105. 1
878270179106. 2
878270179107. 3

878270179108. 4

Question Number : 42 Question Id : 87827045567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Options :

878270179105. 1
878270179106. 2
878270179107.3

878270179108. 4



Question Number : 43 Question Id : 87827045568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many rectangles in a frame are created by the 'rule of third"?

1.3
2.9
3.6
412

Options:

878270179109. 1
878270179110. 2
878270179111.3

878270179112. 4

Question Number : 43 Question Id : 87827045568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

Ud 1 H fd 3ud & d 3E ¥ ¥ 99d 272

1.3
2.9
3.6
412

Options :
878270179109. 1
878270179110. 2

878270179111. 3



878270179112. 4

Question Number : 44 Question Id : 87827045569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electrical contact and mounting system for attaching accessory flashgun is known as ?

1. Input DC gun
2. Synchro socket
3. Hot shoe

4. Monitor button

Options :

878270179113. 1
878270179114. 2
878270179115. 3

878270179116. 4

Question Number : 44 Question Id : 87827045569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

,.H
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Options :
878270179113. 1
878270179114. 2

878270179115. 3



878270179116. 4

Question Number : 45 Question Id : 87827045570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one is the focal length of the fisheye lens?

-300 mm
- 08mm
- 120mm
- 00mm

T

Options :

878270179117. 1
878270179118. 2
878270179119. 3

878270179120. 4

Question Number : 45 Question Id : 87827045570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFIaMTs < @1 Bidd dals dH U 87

300 fHHT
08 ol
120 a4
00 fEEt

T o

Options :
878270179117. 1
878270179118. 2

878270179119. 3



878270179120. 4

Question Number : 46 Question Id : 87827045571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct identity marks design in visual communication
(A). Trade name

(B). Brand name

(C). Slogan

(D). Logo

Choose the correct answer from the options given below:

1. (A),
2 (A),

(B) and (D) only.
(

3. (A), (B), (C) and (D).
(

) and (C) only.

i’
\

B
B

4 (B), (C)and (D) only

Options :

878270179121. 1
878270179122. 2
878270179123. 3

878270179124. 4

Question Number : 46 Question Id : 87827045571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T UaR ¥ 98] UgdH fagl &l 98- &1
(A) YR BT AH

(B) TS &1 TH

(C)ART

(D) I

Td feu e fgwedl § 9 98 S| |

&ad (A), (B) 3R (D)
&ad (A), (B) 3R (C)
3 (A). B), ( C) 3R (D)
®ad (B), (C) 3R (D)

Options :

878270179121.1
878270179122. 2
878270179123. 3

878270179124. 4

Question Number : 47 Question Id : 87827045572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bold line represent which of the following feeling

(A). Power

(B). Strength

(C). Speed

(D). Leadership

Choose the correct answer from the options given below

1. (A),
2. (A),
3 {A‘

B) and (D) only.
B) and (C) only.
B), |G and (D).
C) and (D) only

(
(
(
)1
Options :

878270179125. 1
878270179126. 2
878270179127.3

878270179128. 4

Question Number : 47 Question Id : 87827045572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ates Y Fgfafad o @ g yien &1 ufaRfia sl e
(A) T

(B) I1Hd

(C) T

(D) g

Td feu e fgwedl § 9 98 S| |

&ad (A), (B) 3 (D)

&ad (A), (B) 3R (C)
3 (A). B), (C C) 3R (D)
®ad (B). (C) 3R (D)

Options :

878270179125. 1
878270179126. 2
878270179127.3

878270179128. 4

Question Number : 48 Question Id : 87827045573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following factors are considered by advertisers for the selection of newspaper advertising ?
(A). Girculation

(B). Design

(C). Larger mass

(D). Advertising Budget

Choose the correct answer from the options given below

(A), (B) and (D) only.
(A), (C)and (D) only
(A), (B), (C) and (D).
(B), (C) and (D) only

1
2
3
4
Options :

878270179129. 1
878270179130. 2
878270179131. 3

878270179132. 4

Question Number : 48 Question Id : 87827045573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) §

(B) fSae

(C) TE! ST

(D) faqT wofe

4 U U fodedl 9 U8 SR |

1. %ad (A), (B) 3R (D)
2 &ad (A), (C) 3R (D)
3.(A), (B), (C) 3R (D)

4. ®d (B), (C) AR (D)

Options :

878270179129. 1
878270179130. 2
878270179131. 3

878270179132. 4

Question Number : 49 Question Id : 87827045574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The basic material used in making paper is the fibre of :
(A). Wood

(B). Linen

(C). Adhesive

(D). Stencil

Choose the correct answer from the options given below

1. (A) and (B) only

2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270179133. 1
878270179134. 2
878270179135. 3
878270179136. 4

Question Number : 49 Question Id : 87827045574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BT ST H IULRT B! 74 arel Gl IRl Bigek o
(A) TS

(B) o

(C) g

(D) ¥

Td feu e fgwedl § 9 98 S| |

WI{ ‘r&’]_lﬁi
2 ®ad (A), (B) 3R (C)
3. (A), (B), |G}Sﬂ'{fD]
4 W{B (C,Gﬂ'{[D_

Options :

878270179133. 1
878270179134. 2
878270179135. 3
878270179136. 4

Question Number : 50 Question Id : 87827045575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Spiral binding is a modern mechnical method of binding, used for various types of
(A). Lamination

(B). Varnishing

(C). Reports

(D). Catalogues

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (C) and (D) only

4. (B), (C)and (D) only

Options :

878270179137.1
878270179138. 2
878270179139. 3

878270179140. 4

Question Number : 50 Question Id : 87827045575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TG AT SRS 61 U e dd-ia fafd &, Forae 3uam faft veR & arfen & fou frm s &
(A) A

(B) AT

() R

(D) e

ﬁrmwﬁﬂﬁ?ﬁmw

A), (B) R (D)
!

P (

&aa (A), (B) 3R (C)
( r‘ﬁ-{

@dd (B), (C) Gﬂ'UD

Options :

878270179137.1
878270179138. 2
878270179139. 3

878270179140. 4

Question Number : 51 Question Id : 87827045576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For creating double exposure photo in the easiest way, we need —————-- ?
{A). A backdrop of black velvet

(B). Double exposure mask

(C). Tripod

(D). Enlarger head

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270179141.1
878270179142. 2
878270179143. 3

878270179144. 4

Question Number : 51 Question Id : 87827045576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) BT TG BT YA

(B) S8d UaUIoR ARE
(C) TS
(D) UTdeR &3
I fou T faded! & © 981 SR T
1. @ad (A). (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B). (C) 3 (D)
4 ®ad (B), (C) 3R (D)

Options :

878270179141.1
878270179142. 2
878270179143. 3

878270179144. 4

Question Number : 52 Question Id : 87827045577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the essential materials we need in a dark room?
{A). Chemical

(B). Safe light

(C). Computer

(D). Sink

Choose the correct answer from the options given below

1. (A), (B) and (C) only.
2_(A), (B) and (D) only.
3 {Fv (B). |G and (D).

), (C) and (D) only

Options :

878270179145. 1
878270179146. 2
878270179147.3

878270179148. 4

Question Number : 52 Question Id : 87827045577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) T
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&ad (A), (B) 3R (C)

&ad (A), (B) 3 (D)
3 (A). B), (C C) 3R (D)
®ad (B). (C) 3R (D)

Options :

878270179145. 1
878270179146. 2
878270179147.3

878270179148. 4

Question Number : 53 Question Id : 87827045578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The best equipments for sports photographyare _ ?
(A). 35mm SLR

(B). Lens with 300mm focal length

(C). Monopod

(D). Timer

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2_(A), (B) and (D) only.
3 {A* (B). |G}and (D).

), (C) and (D) only

Options :

878270179149. 1
878270179150. 2
878270179151. 3

878270179152. 4

Question Number : 53 Question Id : 87827045578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179149. 1
878270179150. 2
878270179151. 3

878270179152. 4

Question Number : 54 Question Id : 87827045579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Examples of non-verbal communicaiton

{A). Body posture

(B). Gestures

(C). Radio

(D). Songs

Choose the correct answer from the options given below

1. (A) and (B) only.

2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270179153. 1
878270179154. 2
878270179155. 3

878270179156. 4

Question Number : 54 Question Id : 87827045579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



OfE® T & I
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Options :

878270179153. 1
878270179154. 2
878270179155. 3

878270179156. 4

Question Number : 55 Question Id : 87827045580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A Campaign may have different programme such as :
{A). Consumer advertising

(B). Trade advertising

(C). Funny advertisement

(D). Local market

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A) and (B) only

3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270179157. 1
878270179158. 2
878270179159. 3

878270179160. 4

Question Number : 55 Question Id : 87827045580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.@ad (A), (B) 3R (D)
2 @ad (A) 3R (B)
3. (A), (B), (C) 31 (D)
4. ®ad (B), (C) 3R (D)

Options :

878270179157. 1
878270179158. 2
878270179159. 3

878270179160. 4

Question Number : 56 Question Id : 87827045581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

When a piece of paper is folded once lengthwise:

List-| List-Il

(A). Each leaf is called (). Quarto

(B). One quarter of a sheet  |(Il). Sexto

(C). One eighth part of a sheet|(l1l). Folio

(D). Sixteenth part of a sheet |(IV). Octavo

Choose the correct answer from the options given below:

2. (A) - (1), (B) - (1), (C) - (IV), (D} - (Il
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (Nl
4. (A) - (ll1), (B) - (IV), (C) - (1), (D) - (Il

i gt g g

Options :

878270179161. 1
878270179162. 2
878270179163. 3

878270179164. 4

Question Number : 56 Question Id : 87827045581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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ol HFTS & <o @l dals &l oW H Uh aR AIS fear o &:

- IRl
(A) Tl U B Bal wral 8|(1) BIel
(B) U 9TS BT UKESE

(C) T TNE &1 H1SaT ¥ |(1l1) Fifera
(D) U Eiie &I \iaedl ¥ |(IV) 3Hiaeal
-d fgu TTe fadedl § € 98! 3w |

1..(A) - (), (B) - (I), (C) - (1), (D} - (IV)
2. (A) - (), (B) - (1), (C) - (IV), (D) - (1)
3. (A) - (D), (B) - (1), (C) - (IV), (D) - (1lT)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270179161. 1
878270179162. 2
878270179163. 3

878270179164. 4

Question Number : 57 Question Id : 87827045582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

The various types of standard image are:

List-l  |List-ll

(A). TIFF|(1). Encapsulated Post Script

(B). EPS|(I). Tagged Image File

(C). PS |(IIN). Portable Document Format

(D). PDF|(IV). Post Script

Choose the correct answer from the options given below:

1. (A) - (), (B) - (1), (C) - (IV), (D) - (1T}

2. (A) - (1), (B) - (IlT), (C} - (I, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)
Options :

878270179165. 1
878270179166. 2
878270179167. 3

878270179168. 4

Question Number : 57 Question Id : 87827045582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt - B gt -l gl Sife
3t TR &1 A B9l 54 YoR o

it -l

(A) SHTSUE|(1) THF=eCS IIRe &
(B) TUITE  |(I1) &7 SHE BIsa
(C)dEE () G STHHE FHRHE
(D) 9SS |(1v) O fEpe

T RT T el & @ 98 ok

1. (A) - (IN), (B) - (1), (C) - (IV), (D) - (Il1)
2. (A) - (1), (B) - (l1), (C)-(I), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (111}
4. (A) - (ll), (B) - (IV), (C) - (1}, (D) - (1)

Options :

878270179165. 1
878270179166. 2
878270179167. 3

878270179168. 4

Question Number : 58 Question Id : 87827045583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-l

(A). Relief (1. Hot foil stamping

(B). Planography|(ll). Letterpress

(C). Specialized |(lIl). Silkscreen

(D). Stencil (IV). Offset

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (1IN}, (C) - (11}, (D) - (IV)

3. (A) - (I, (B) - (IV), (C) - (1}, (D) - (111}

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (I1)
Options :

878270179169. 1
878270179170. 2
878270179171.3

878270179172. 4

Question Number : 58 Question Id : 87827045583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV)

2 (A) - (1), (B) - (lIl), (C)-(I), (D) - (IV)

3. (A) - (11}, (B) - (IV), (C) - (1), (D) - (Il1)
|

4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270179169. 1
878270179170. 2
878270179171.3

878270179172. 4

Question Number : 59 Question Id : 87827045584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-I

(A). Red |(1). Purity, Truth, Peace

(B). White|(I1). Maturity, Patience

(C). Gold |(lI1}. Vitality, Excitement

(D). Grey|(IV). Wealth, Majesticness

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (1), (C)-(IV), (D) - (11}

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

4 (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270179173. 1
878270179174. 2
878270179175. 3

878270179176. 4

Question Number : 59 Question Id : 87827045584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ot -1 &1 Tl -1l G gafed Sifo ;

qat-l [
(A) T |(1) afdsar, T, =il
(B) Teg|(Il) TRb@r, 97
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-d feu TTe fadedl  © 9el 3w |

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV)
2. (A) - (), (B) - (1), (C) - (IV), (D) - (1)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (11
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270179173. 1
878270179174. 2
878270179175. 3

878270179176. 4

Question Number : 60 Question Id : 87827045585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). Alignment |(I). Page arrangement

(B). Binding  |(ll). Page design

(C). Grid (111). Book

(D). Imposition|(IV). Justified

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (1), (C) - (1), (D) - (IV
2. (A)- (1), (B) - (1), (C) - (11}, (D) - (IV
3. (A) - (IV), (B) - (I11), (C) - (1), (D) - (I
4. (A) - (1), (B) - (IV), (C) - (1), (D} - (Il

—
L e . T

Options :

878270179177. 1
878270179178. 2
878270179179. 3

878270179180. 4

Question Number : 60 Question Id : 87827045585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) HW@W  |(1) UE &I Suaw
(B) ERIET (1) 9 f&wmsa
c)frs () ferama

(D) 98 fa=amg|(1v) Seitreha
-d fgu e fadedl § © 98! 3w |

1.(A)-(1), (B) - (1), (C) - |||:| (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (I1), {D} (V)
3. (A) - (IV), (B) - (111}, (C) - (1), (D) - (1)

i

4. (A) - (lin), (B) - (IV), (C) - (1), D}-l‘.“}

Options:

878270179177.1
878270179178. 2
878270179179. 3

878270179180. 4

Question Number : 61 Question Id : 87827045586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-I

(A). FMCG product  [(1). Social advertising

(B). Machinery (). Service advertising

(C). Voting awarness|(Il1). Industrial advertising

(D). Bank service (IV). Retail advertising

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (1), (D) - (Il
2. (A) - (D), (B) - (111}, (C}-(IN), (D) - (IV
3. (A) - (1), (B) - (IN), (C) - (IV), (D) - (IN
(

4. (A) - (1), (B) - (IV), (C) - (1), (D} - (Il

i it mg® g

Options :

878270179181. 1
878270179182. 2
878270179183. 3

878270179184. 4

Question Number : 61 Question Id : 87827045586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt - B gt -l gl Sife

it -l
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1.(A) - (IV), (B) - (ll), (C) - (1), (D) - (1)
2. (A) - (), (B) - (lN), (C) - (I, (D} - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270179181. 1
878270179182. 2
878270179183. 3

878270179184. 4

Question Number : 62 Question Id : 87827045587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the right sequence according to the resolution of camera in ascending order
(A). Basic compact camera

(B). Basic SLR

(C). Professional SLR

(D). Medium format camera

Choose the correct answer from the options given below:

1. (A), (D), (C), (B)
2. (A), (B), (C), (D)
3. (B), (A), (D), (C)
4 (C), (B), (D), (A).
Options :

878270179185. 1
878270179186. 2
878270179187. 3

878270179188. 4

Question Number : 62 Question Id : 87827045587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (D), (C), (B)

2 (A), (B), (C), (D)

(B), {Hﬂijlﬂl

4. (C), (B), (D), (A).
Options :

878270179185. 1
878270179186. 2
878270179187. 3
878270179188. 4

Question Number : 63 Question Id : 87827045588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the right sequence according to the angle of lens in descending order.
(A). Fisheye lens

(B). Ultra wide angle lens

(C). Telephoto lens

(D). Wide angle lens

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)

2. (A), (C), (B), (D)

3. (B), (A), (D), (C)

4 (A), (B), (D), (C)
Options :

878270179189. 1
878270179190. 2
878270179191. 3

878270179192. 4

Question Number : 63 Question Id : 87827045588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A),
2. (A),
3. (B),
4. (A),

B), (C), (D)
C), (B), (D)
A), (D), (C)
B), (D), (C)

— — — —
[ R R

Options :

878270179189. 1
878270179190. 2
878270179191. 3

878270179192. 4

Question Number : 64 Question Id : 87827045589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the movement according to increasing order of time;
(A). The Advertising Agencies Association of India

(B). The Indian Society of Advertisers

(C).The first full fledged Indian Advertising Agency

(D). The Audit Bureau of Circulation

Choose the correct answer from the options given below:

1. (C), (A), (D)
2. (A), (B), (C)
3. (B), (A), (D)
4 (C), (B), (D)

(B).
(D).
(C).
(A)

Options :

878270179193. 1
878270179194. 2
878270179195. 3

878270179196. 4

Question Number : 64 Question Id : 87827045589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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=td fau e fadedl & ¥ 981 SR 4|

1. (C), (A), (D), (B)
2. (A), (B), (C), (D)
3. (B), (A), (D), (C)
4 (C), (B), (D), (A).

Options :

878270179193. 1
878270179194. 2
878270179195. 3

878270179196. 4

Question Number : 65 Question Id : 87827045590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



As per the size of Advertising media arrange from small to large
(A). 300 sq. ft. hoarding

(B). A3 size poster

(C). 100cc Newspaper ad

(D). 50x100 ft. wall mural ad

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)

2. (A), (D), (C), (B)

3. (C), (B), (A), (D)
4 (C), (B), (D),

— e

(A).
Options :
878270179197. 1
878270179198. 2
878270179199. 3

878270179200. 4

Question Number : 65 Question Id : 87827045590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (B), (C), (D
2. (A), (D), (C), (B
3. (C), (B), (A), (D

4 (C), (B), (D), (A).

)

)

)
A)
Options :
878270179197. 1
878270179198. 2
878270179199. 3

878270179200. 4

Question Number : 66 Question Id : 87827045591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Setup the various developments in printing technology from ancient to modern times:

(A). When two methods of mechanical typesetting were invented at the end of 19th century - . monotype system i. linotype
system

(B). DTP- Desktop Publishing

(C). Phototype setting- high intensity light flashes through the transparent type images, which move on a spining disc
(D). Gutenberg's invention of movable type system

Choose the correct answer from the options given below:

(A), (C
(A), (B
A

), B),

.(B). (D
(C),(

=

(
(

=]

(D)
(C

2

i
(

B
A).

(

,(C),(B),(D)
,(8),(C).(D)
(A, (C). B)
,(B), (D), (A)

I e

D

Options :

878270179201. 1
878270179202. 2
878270179203. 3

878270179204. 4

Question Number : 66 Question Id : 87827045591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I § TR 1Y $9Y 70 U Seiie! it fGmr o vt #¢
(A) 191 TTed) & 3 & TiFd ergueten @1 ol faftal &1 fawpR foa a1 Ui AiieTsy ot i, foriers womeh

(8) 3 & T -S%el yHRA

(C) BleleRy HeT-URGT YoR @I oyl & AeH T I diaal aril Hor I9ddl 6, off U Sl 1o W 041

(D) TeTa] 3 75 Y& HUTel & TSR {5
i few e oot € € O SR I

(D)
(D)
(B)
A)

Options :

878270179201. 1
878270179202. 2
878270179203. 3

878270179204. 4

Question Number : 67 Question Id : 87827045592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange in correct order the features of CorelDraw software program:
(A). Fill an object

(B). Import and Export

(C). Create an object

(D). Print document

(E). Handling text

Choose the correct answer from the options given below:

1. (A), (B), (C), (D) and (E)
2.(A), (C), (B), (D) (E)
3. (C), (A), (E), (B) and (D).
4 (C), (B), (D), (A) (E)

Options :

878270179205. 1
878270179206. 2
878270179207. 3

878270179208. 4

Question Number : 67 Question Id : 87827045592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BReIg] UIFedd: T @1 faRiwdrst & Ual HH H Hafeyd ®1:

(A) Tt a5 &I WA

(B) T4Td 31 Faid

(C) U G% ST

(D) GXTdd fiie &

(E) TG &I GHTaT

Td feu T fgwedi § 9 98 S| |

1. (A), (B), (C), (D), (E)
2. (A), (C), (B), (D) (E)
3. (C), (A), (E), (B), (D).
4. (C), (B), (D), (A) (E)

Options :

878270179205. 1
878270179206. 2
878270179207. 3

878270179208. 4

Question Number : 68 Question Id : 87827045593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange in increasing order the following: Logo as per size in application of corporate identity:
(A). Cap

(B). Business card

(C). Transport van

(D). Hoarding

Choose the correct answer from the options given below:

1. (A), (B), (C), (D)
B), (A), (C), (D)
(
(

]
N
]
N

B), (A), (D), (C)
C), (B), (D), (A)

2.
3
4
Options :

878270179209. 1
878270179210. 2
878270179211.3

878270179212. 4

Question Number : 68 Question Id : 87827045593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FEfeRad %4 H HHds o1 Hagidd UsaH & AWM H HHR & AT9R Tk

(A) DU

Options :

878270179209. 1
878270179210. 2
878270179211.3

878270179212. 4

Question Number : 69 Question Id : 87827045594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange correct sequence of texture as per their size
(A). Micro texture of leaf vains

(B). Mosaic tiles

(C). Surface of a moon

(D). Texture of a virus

Choose the correct answer from the options given below:

| {Fv ( } (C), (D)

2 (D), (A), (B), (C)

B {Hﬂijlﬂl

4 (C), (B), (D), (A).
Options :

878270179213. 1
878270179214. 2
878270179215. 3

878270179216. 4

Question Number : 69 Question Id : 87827045594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Id HBR & YR 919 BT Yol HH 0aeyd B
(A) Uit @1 4T &1 Y& s-1ae
(B) HIvidh TRcH

(C) 95T &1 Hag

(D) f9uTT] F1 §919¢C

Td feu e fgwedl § 9 98 S| |

Options :

878270179213. 1
878270179214. 2
878270179215. 3

878270179216. 4

Question Number : 70 Question Id : 87827045595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange correct sequence of layout process from ideation to finishing.
(A). Digital layout

(B). Thumbnail layout

(C). Comprehensive layout

(D). Rough layout

Choose the correct answer from the options given below:

1. (A), (B), (C
2. (A), (C), (B), (D)
3. (B), (D), (C), (A).
4 (C), (B), (D), (A).

(D)

),
),
),
),

Options :

878270179217.1
878270179218. 2
878270179219. 3

878270179220. 4

Question Number : 70 Question Id : 87827045595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IRE 0T T T URSHR ddb T3 Uishdl &1 Tg! SshH Aaiedd d1 |

(A) fafoed damge

GREESIEIRG

(C) SUH A3

(D) Tl Udd! G|

I fou T faded! & © 981 SR T

1. (A), (B), (C), (D)
2 (A), (C), (B), (D)
(B), (D), (C), (A).
4 (C), (B), (D), (A).

Options :

878270179217.1
878270179218. 2
878270179219. 3
878270179220. 4

Question Number : 71 Question Id : 87827045596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-I

Focal length  |Use
(A). 20mm ((I). Wildlife

(B). 100mm [(Il). Landscape

(C). 600mm [(lll). General view

(D). 35mm [(IV). Head and shoulder portrait

Choose the correct answer from the options given below:

)
2. (A) - (1), (B) - (IV), (C) - (1), (D) - (NI
3. (A) - (1), (B) - (IN), (C) - (IV), (D) - (IN
4. (A) - (ll1), (B) - (IV), (C) - (1), (D) - (Il

i gt maga® g

Options :

878270179221. 1
878270179222.2
878270179223.3

878270179224. 4

Question Number : 71 Question Id : 87827045596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt - B gt -l gl Sife

it -
D dars| gward

(A) 20 Bt (1) Tl

(B) 100 fai|n gfe=g

(C) 600 THH| (111) TTATY EEHI

(D) 35 fielt |v) R SR &8 =1 i

- feu e famedl § 9§ 981 3ok I |

1.(A)- (1), (B) - (I1), (C) - (1IN}, (D) - (IV)
2. (A) - (I1), {E!ﬁ-f!m (C) - (1), (D) - (1)
3. (A) - (1), (B) - (II), (C) - (IV), (D) - (Ill)

4 (A) - (llN), (Ej-{l‘u’j (C) - (1), (D) - (I)

Options:

878270179221.1
878270179222. 2
878270179223.3

878270179224. 4

Question Number : 72 Question Id : 87827045597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

Lighting Temprature in kelvin
(A). Average Daylight (1). 5800K

(B). Candle light (I1). 3200K

(C). Toungsten flood lamp

(). 1930 K

(D). 150W blub

(IV).2600K

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV}

2. (A) - (1), (B) - (I1), (C) - (Im), (D) - (IV)

3. (A) - (1), (B) - (IlT), (C) - (I, (D) - (IV)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (I1)
Options :

878270179225. 1
878270179226. 2
878270179227.3

878270179228. 4

Question Number : 72 Question Id : 87827045597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt - B gt -l gl Sife

it -1l

1 (o Piea | arga=
(A) &7 =T afrea IEE|(1) 5800K

(B) HHaET @I T=HT |(I) 3200K
(C)TTEA TS T |(I1) 1930 F

(D) 150W &7 (IV) 2800K

- feu e famedl § 9§ 981 3ok I |

1..(A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (1), (D} - (IV)
3. (A) - (), (B) - (In), (C) - (I, (D} - (IV)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270179225. 1
878270179226. 2
878270179227.3

878270179228. 4

Question Number : 73 Question Id : 87827045598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

(A). RAM{(1). A measure of film speed

(B). CCD|(I). Image editing performance

(C). ASA|(IIl). The image sensor

(D). DPI|(IV). Measure of resolution

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (I1), (B) - (111}, (C) - (1), (D) - (IV}

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (Il
Options :

878270179229. 1
878270179230. 2
878270179231.3

878270179232. 4

Question Number : 73 Question Id : 87827045598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt - B gt -l gl Sife

eIl GEIRL

WA () o @i aid @1 us Al
(B) TSl |(11) B e wax
(C)TEaY  |(I11) Bfd Sag®

(D) STtams|(1v) BT =T T

=T e e fawedl § @ Wl IR o

1. (A) - (), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (1), (B) - (1), (C) - (I}, (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270179229. 1
878270179230. 2
878270179231. 3

878270179232. 4

Question Number : 74 Question Id : 87827045599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-I

(A). Geographical (1. Primary

(B). Respose to advertising (). National

(C). Stages to advertising ((lll). Consumer

(D). Audience of advertising|(IV). Direct action

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (IlT), (C} - (I, (D) - (IV)

3. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270179233. 1
878270179234. 2
878270179235. 3

878270179236. 4

Question Number : 74 Question Id : 87827045599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt - B gt -l gl Sife

-1 LIl

(A) Hifers (1) Ut

(B) Tasma= gz wifefdsar |(n) wftg
(C)fE E W |(11) ITHE
D) fGmad e=ie  |(1v) e sraE
- feu e famedl § 9§ 981 3ok 7|

1.(A)-(1), (B) - (C) - U”J (D) - (IV)
2 (A)- (1), (B) - |||} (©)- j{D} (V)
3. (A) - (I1), (B) - (IV). (C) - 1), (D) - (Ill)
4. (A) - (ll), (B) - (IV), (C) - (1), D}-l‘.“}

Options:

878270179233. 1
878270179234. 2
878270179235. 3

878270179236. 4

Question Number : 75 Question Id : 87827045600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange techniques as of visualization in correct order.

(A). Brain Storming

(B). Locating the problem

(C). Rough Layout

(D). Forming a proof of relevant facts, information and observation
(E). Final layout

Choose the correct answer from the options given below:

1. (A), (B). (C), (D).(E).

2. (B), (D), {A} (C), (E).

3. (B), (A), (E), (D), (C).

4. (E), (C), (E} (D), (A)
Options :

878270179237. 1
878270179238. 2
878270179239. 3
878270179240. 4

Question Number : 75 Question Id : 87827045600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TSR @1 do-id] &l Jal HH H ogaryd Hi
(A) S T

(B) HHJT ol Udl 711l

(C) T® T3HT3T

(D) GEHT 3R Haald & ATUR TR Ui audi &1 gar

(E) 3ifaH Tefrde
I feu e fasedf § € T8 IR A |
1. (A), (B), (C), (D), (E)
2.(B), (D), (A), (C), (E)
3. (B), (A), (E).(D), (C)
4 (E), (C), (B), (D), (A)
Options :

878270179237. 1
878270179238. 2
878270179239. 3
878270179240. 4



